LC1 F115...F1250 www.schneider-electric.com

T //I

D)

LC1 F115 LC1 F400 LC1 F630 LC1 F1250
LC1 F150 LC1 F500 LC1 F800

LC1 F185

LC1 F225

LC1 F265

LC1 F330

"For Motor Starting Use Schneider Electric Overload Relay Series LR"

"Pour le démarrage du moteur, utilisez un relais de surcharge de série LR Schneider Electric"
"Fir den Motorstart die Uberlastrelais der LR-Serie von Schneider Electric verwenden"

"Per I'avvio del motore, utilizzare il relé di sovraccarico Schneider Electric delle serie LR"
"Para el arranque del motor, utilice relés de sobrecarga de la serie LR de Schneider Electric"
"Para inicializagdo do motor, use o relé de sobrecarga série LR da Schneider Electric"

"[ns 3anycka asuratens ucnonb3ynte pene neperpysku Schneider Electric cepumn LR"
"W E S, 54T Schneider Electric ) LR 5133 4% 4k iy 7"

A A DANGER/DANGER/GEFAHR/PERICOLO/

PELIGRO / PERIGO / ONACHOCTb / f& &

HAZARD OF ELECTRIC SHOCK, EXPLOSION, RISQUE D'ELECTROCUTION, D'EXPLOSION
OR ARC FLASH OU D'ECLAIR D’ARC ELECTRIQUE
Disconnect all power before servicing equipment. Coupez toutes les alimentations avant de travailler
Failure to follow these instructions sur cet appareil.
will result in death or serious injury. Si ces directives ne sont pas respectées, cela
entrainera la mort ou des blessures graves.

GEFAHR VON ELEKTRISCHEM SCHLAG, RISCHIO DI SCARICA ELETTRICA , ESPLOSIONE
EXPLOSION ODER LICHTBOGEN O ARCO ELETTRICO
Vor dem Arbeiten am Gerét alle Scollegare I'appare cchio da tutti i circuiti di
Spannungsversorgungen abschalten. alimentazione prima di qualsiasi intervento.
Die Nichtbeachtung dieser Anweisungen fiihrt zu Il mancato rispetto di queste istruzioni provochera
Tod oder schweren Verletzungen. morte o gravi infortuni.
PELIGRO DE DESCARGA ELECTRICA, EXPLOSION | RISCO DE ELECTROCUSSAO, DE EXPLOSAO,
O ARCO ELECTRICO OU DE ARCO ELECTRICO
Desconecte todas las alimentaciénes antes Desconecte todas as alimentagdes antes de manipular
de manipular el producto. o produto.
El incumplimiento de estas instrucciones podra A nao observancia destas instrugdes resultara em
causar la muerte o lesiones serias. morte, ou ferimentos graves.
OnacHOCTbL NOPaXeHUs 3NeKTPUUYECKUM TOKOM, B, BrESIAR R
|<_>Il'laCHOngnBi(PMI::ﬁM:ﬁMMm"l:ﬁg:Tg'\);m- ML s AT AR, 1 e D)W s

epen o S E et o
yﬁé)nvflTer, l4Yro nvTaHue OTKnproquo. Tl ERRHESEARGT.
HecobnogeHue aTnx MHngyKuwﬁ npuseger
K CMepTH Unu cepbe3Hoi TpaBMme.

W9 1355817 0191 20 SChneider

o PElectric



o

LC1 F115...F330

F
J I =

ok p,Lm-L

ohi N/z E

WE

e
L\L\L ]

“7 34»‘

LC1 F400...F500
»ysr [}
Y 7/ <
H—¢<
M H —=

H g

e
o al-platd]

a—

]

oo
Jaleplplplare
a f—l

%gml()g E

g
Jdakp-k ﬂql

LC1 F1250

W9 1355817 0191 20

2/20



LC1 F115 LC1 F150 LC1 F185 LC1 F225 LC1 F265
mm 115 1154 150 1504 185 1854 | 225 | 2254 265 | 2654
a 163,5 | 200,5 | 163,5 | 200,5 | 168,5 | 208,5 | 168,5 | 208,5 | 201,5 | 244,5
P 37 37 40 40 40 40 48 48 48 48
Q 29,5 29,5 26 26 29 29 21 17 39 34
Q1 60 60 57,5 55,5 59,5 59,5 51,56 | 47,5 66,5 | 66,5
S| 20 20 20 20 20 20 25 25 25 25
(] M6 M6 M8 M8 M8 M8 M10 | M10 M10 | M10
f 131 131 131 131 130 130 130 130 147 147
b 162 162 170 170 174 174 197 197 203 203
b1 137 137 137 137 137 137 137 137 145 145
M 147 147 150 150 154 154 172 172 178 178
H 124 124 124 124 127 127 127 127 147 147
® 171 171 171 171 181 181 181 181 213 213
L 107 107 107 107 | 1135 | 1135 113,5 | 113,5 141 141
X1
220...500 V 10 10 10 10 10
660...1000 V 15 15 15 15 15
inches = mm x 0.0394
LC1 F330 LC1 F400 LC1 F500 LC1 F630...F800 [LC1 F1250
mm 630
330 [ 3304 | 4002| 400 [ 4004 | 5002 [ 500 [ 5004 [ 6302 | 800 | 6304 1250
a 213 | 261 | 213 (213 | 261 | 233 | 233 | 288 | 309 | 309 | 389 309
P 48 | 48 | 48 | 48 | 48 55 55 | 55 80 80 80 80
Q 43 | 43 | 69 | 43 | 43 76 46 | 46 102 60 60 60
Q1 74 | 74 | 96 |74 | 74 | 102 | 77 | 77 127 89 89 89
S| 25 [ 25 | 25 | 25| 25 30 30 | 30 40 40 40 50
(%] M10 | M10 | M10 (M10| M10 | M10 [ M10| M10 | M12 [ M12 | M12 M12
f 147 | 147 | 146 (146 | 146 | 150 | 150 | 150 181 181 | 181 181
b 206 | 206 | 206 [ 206 | 206 | 238 | 238 | 238 | 304 | 304 | 304 338
b1 145 | 145 | 209 [ 209 | 209 | 209 [ 209 [ 209 [ 280 | 280 | 280 280
M 181 | 181 | 181 (181 | 181 | 208 | 208 | 208 | 264 | 264 | 264 264
M1 - - - - - - - - - - - 312
M2 - - - - - - - - - - - 28
H 158 | 158 | 158 [ 158 | 158 | 172 [ 172 | 172 | 202 | 202 | 202 202
G 219 1 219 | 219 (219 219 | 232 | 232 | 232 | 255 | 255 | 255 255
L 145 | 145 | 145 (145 | 145 | 146 | 146 | 146 155 | 155 | 155 155
X1
220..500 V 10 15 15 20 20
660..1000 V 15 20 20 30 30
W9 1355817 0191 20 3/20



LC1F | 115/1154 | 265/2654 | 400/4002 5004 630/6302 6304 1250
150/1504 | 330/3304 4004 800
185/1854 500/5002
225/2254
G (mm) 80 96 80 140 180 240 180
H (mm) 110 -120 170 - 180 180 - 190

inches = mm x 0.0394

o .

LC1F a (mm)
115/1154 10
150/1504/185/1854 13

225 ... 5004 16
630/6304/800/1250 18

Ib-in = N.m x 8.85

185 | 225 | 265 330 400 500 630 800 [ 1250

A (mm) 20 | €25 | €25 | <30 | <30 | €30 | <30 | <40 | <60 | <60 | s60
B (mm) 10 [ 125|125 | 15 15 15 15 20 25 25 25
@ (mm) 6,6 9 9 11 1" 11 11 11 13 13 13
S (mm?2) 95 120 | 150 | 185 | 240 240 | 2x150 | 2x240 - -
C (N.m) 10 18 18 35 35 35 35 35 58 58 58

L M8x10|M8x10|M8x10[M8x10{M10x12|M10x12|M10x12|M10x12|M12x20|M12x20|M12x20
C (N.m)-L{ 10 10 10 10 10 10 35 35 58 58 58

inches = mm x 0.0394
Ib-in = N.m x 8.85

W9 1355817 0191 20 4/20




LAO Fe979

<

LA9 Fe981

]

LA9F1250

LA9 Fe601

LC1F

v 3x ? 3x 3 x 4x 1 x

115 LA9 FF981 | LA9 FF979 | LA9 FF980 | LA9 FF602 | LA9 FF601 -

150 LA9 FG981 | LA9 FG979 | LA9 FG980 | LA9 FG602 [ LA9 FG601 -

185 LA9 FG981 | LA9 FG979 | LA9 FG980 | LA9 FG602 [ LA9 FG601 -

225 LA9 FJ981 | LA9 FJ979 | LA9 FJ980 | LA9 FHG602 | LAY FHG01 -

265 LA9 FJ981 | LA9 FJ979 | LA9 FJ980 | LA9 FHG602 | LAY FHG01 -

330 LA9 FJ981 | LA9 FJ979 | LA9 FJ980 | LA9 FHG602 | LAY FHG01 -

400 LA9 FJ981 | LA9 FJ979 | LA9 FJ980 | LA9 FHG602 | LAY FHG01 -

500 LA9 FK981 | LA9 FK979 | LA9 FK980 | LA9 FK602 | LA9 FK601 -

630 LA9 FL981 | LA9FL979 | LA9 FL980 | LA9 FL602 | LA9 FL601 -

800 LA9 FL981 | LA9 FL979 | LA9 FL980 - LA9 FL601 -
1250 - - - - - LA9 F1250

W9 1355817 0191 20 5/20



LADN
LADC

LA1 DX (1)

DZ (1)

DY (1)

1"F"
(NO)
1"0"
(NC)
1"F"+1"0"
(NO) (NC)
2"F"
(NO)
2"0"
(NC)
2"F"+2"0"
(NO) (NC)
1"F"+3"0"
(NO) (NC)
4"F"
(NO)
4"0"
(NC)
3"F"+1"0"
(NO) (NC)
2"F"+2"0"
(NO) (NC)
2"F"
(NO)
2"F"+2"F"
(NO) (NO)

1"F"+1"0"+2"F"
(NO) (NC) (NO)
2"F"

(NO)

(1) LA1 DX/DY/DZ
Dust-tight

Environnement polluant
Fir verschmutzte Umgebung

Ambienti polverosi
Amblente polvoriento
MbinesamiILeHHbI

(NO)
(NO) (NC)

LA DN10
LA DNO1
LA DN11
LA DN20
LA DN02
LA DN22
LA DN13
LA DN40
LA DN04
LA DN31
LA DC22
LA1DX20 (1)
LA1DZ40 (1)
LA1DZ31 (1)

LA1DY20 (1)

0,1..3s
0,1..30s
1..30s
10...180s
0,1..3s
0,1..30s
10...180s

LA DTO
LA DT2
LA DS2
LA DT4

LA DRO
LA DR2
LA DR4

W9 1355817 0191 20

6/20



W9 1355817 0191 20 7/20



LX9 Feeee ~
LX4 F8eee . /
LX1 Feeeo ~ LX4 Feeoe -—

Al A2

(LC1 F115... F225) (LC1 F265 ... F1250)

LC1 F6304

W9 1355817 0191 20 8/20



C=12Nm

(10 Ib-in)| .

C=12Nm
C=10Ib-in

00 T

__________

LX1F ~ LX1F/LX9F ~
LX4 F8 ~ /==

KM
== _~—""

I 1
:,.I ! I LAtf A2

LC1 F115 ... 330

e F| Ls |[s2 ,
~N /= eee [T | ee MM

4 2,5

318!

110 V 60

[&13)]

220v | 230

oo

380V | 55
440V | 41520

-
n
o

N AN AN DR | D

oo

LC1 F400 ... 1250

LX4-F

KA -

I PR
L T
D

KA Al ] A2

I_&_I KM

220V
{ KA KA A1 KM A2

125V

48V
10V

250V
440V

IXe F| Ls [s
~N /= eee M | ee MM

o

48 'V

s

6
10

110 V 20

oo

220V 20

oo

380V
asov | 200

[}
o
N | AN AN DN~

13!

W9 1355817 0191 20

9/20



<=
BE | g |
o N
50 Hz VA | VA Un aG 60 Hz VA (VA Unp aG
(1 1) (1) (1)
LC1 F115/F150 LC1 F115/F150
LX1 FF024 | 550 |45 24V 12A LX1 FF040 | 660 | 55 48V 6A
LX1 FF042 | " " 42V 8A LX1 FF092| " " 110V 4A
LX1 FF048 | " " 48V 6A LX1 FF095| " " 1115120V | 4 A
LX1FF110 | " " [110/115V | 4 A LX1 FF162| " " 1200/208 V| 2A
LX1 FF127 | " " 127V 4 A LX1 FF184| " " 220V 2A
LX1 FF220| " " 1220/230 V| 2A LX1 FF187( " " 1230/240V | 2A
LX1FF240| " " 240V 2A LX1 FF340| " " 415V 2A
LX1FF380 | " " 1380/400V | 1A LX1 FF360| " " 440V 1A
LX1 FF415| " " |415/440V | 1A LX1 FF380| " " [460/480V | 1A
LX1 FF500 | " " 500 V 1A LX1 FF550( " " 660 V 1A
LX1 FF660 | " " 660 V 1A
LC1 F185/F225 LC1 F185/F225
LX1 FG024 | 805 |55 24V 16 A LX1 FG040| 970 | 66 48V 10A
LX1 FG042| " " 42V 8A LX1 FG092| " " 110V 6A
LX1 FG048| " " 48V 8A LX1 FG095| " " [115/120V | 6 A
LX1 FG110| " " [110/115V | 4 A LX1 FG162| " " 1200/208 V| 4 A
LX1FG127| " " 127V 4A LX1 FG184| " " 220V 4 A
LX1 FG220| " " 1220/230 V| 2A LX1 FG187| " " [230/240V | 4 A
LX1 FG240| " " 240V 2A LX1 FG340| " " 415V 2A
LX1 FG380| " " |380/400V | 1A LX1 FG360| " " 440V 2A
LX1 FG415| " " [415/440 V| 1A LX1 FG380| " " 1460/480V | 2A
LX1 FG500| " " 500 V 1A LX1 FG550| " " 660 V 1A
LX1 FG660| " " 660 V 1A
(1)6=20°C

W9 1355817 0191 20

10/20



=
0| | w |E(E i
o=
~ ~
40...400 Hz VA |VA Un aG 40...400Hz | VA [VA Un gG
(1) () (1 (1)
LC1 F265/F330 LC1 F500
LX1 FH0482 48V [10A| [Lx1 Froas 48V |10A
LX1 FH1102| 600 | & [110/115v [ 6A | [Lxtrkito] | [110120v]6A
LX1 FH1275 120127 V| 6A | [Lx1 FK127 127V | 6A
LX1 FH2202 2201230V | 4A | [LX1 FK220 2201230V | 4 A
LX1 FH2402 240V | 4A | [Lx1 Fr240 240V | 4A
LX1 FH3802 | 700 | 10380415 v | 2A | [LX1FK380| I | ' [380/400 V| 2
LX1 FH5002 480/500 V| 2A | [Lx1 FKa15 415/480 V| 2 A
LX1 FK500 500V | 2A
LC1 F400 LC1 F630/F1250
LX1 FJ048 48V [10A| [Lx1 FLo4s
LX1 FJ110 |1000[12 [110/120 v | 6 A | [EELEE300y) il e
il v Tl [XLFL10 [1500| 20 [110/120 v | 8
LX1 FL127 127V | 8A
LX1 FJ220 2201230 V| 4 A
T v Tanl [EXTFL220 2201240V | 6 A
X1 FJ380 | 1150| 18 [380/200 v | 2A | =) FL380 380M00 V) 4 A
LX1 FL415 [1730| 25 |415/440 V| 2 A
LX1 FJ415 415/480 V| 2 A
LX1 FL500 500V | 2A
LX1 FJ500 500V | 2A
LC1 F800 e
LX4 E8EW |1700] 11 | 110127 v [ 16 A |DR5 TE4U
LX4 ESMW |1700] 11 | 220240 V| 6 A |DR5 TE4U
LX4 F8QW [1700[11 [380/440 V| 2 A |DR5 TE4S

(1) 50/60 Hz, 6 = 20 °C

W9 1355817 0191 20 11/20



& E 1 || o & i

<= <=

-—- W [ W Un gG -—- W W Un gG

LC1 F115/150 LC1 F400
LX4 FF024 24V |12A] [Lx4 FJoas 48V [10A
LX4 FF048 | 543 |3,94| 48V |6A | [Lx4FJ110]920| 4 | 110v [6A
LX4 FF110 I I 110V |4A | [Lx4 FJ125 [ [ 125V | 6A

LX4 FF125 125V |4 A | |LX4 FJ220 220V | 4A

LX4 FF220 | 665 | 4,83 |1220/230 V| 2A | |LX4 FJ250 [1140| 7,5 | 250V |4A

LX4 FF440 440/460 V| 1A | [LX4 FJ440 440V | 2A
LC1 F185/225 LC1 F500

LX4 FG024 24V |16 A| |LX4 FK048 48V [10A

LX4 FG048| 737 |4,13| 48V 8A | |LX4 FK110 (990 | 4,5 110V |6A
LX4 FG110 110V | 4A | [LX4 FK125 125V |6A
LX4 FG125 125V |4 A | |LX4 FK220 220V | 4A
LX4 FG220| 902 | 5,07 |220/230 V| 2 A | [LX4 FK250|1220| 8 250V |[4A

LX4-FG440 440/460 V| 1 A | |LX4-FK440 440V | 2A
LC1 F265/330 LC1 F630/F1250
LX4 FHO024 24V |16 A| |LX4 FL048 48V |16A

LX4 FH048|655 | 368 48V |8A | [Lx4 FL110 |1420| 6,5 | 110V |[8A
LX4 FH110 I ] 1170V |4A | [Lx4 FL125 I I 125V | 8A

LX4 FH125 125V | 4A LX4 FL220 220V | 4A
LX4 FH220| 803 | 4,53 |220/230 V| 2 A LX4 FL250 [1920(12,5| 250V |4A

LX4 FH440 440/460 V| 1A | |LX4 FL440
(LC1 F630 only)

440V | 2A

LC1 F800
LX4 F8FW (1900 10 [110/120 V| 8A

LX4 F8BMW (1900 10 |220/240V|4A

LX4 F8QW (1900| 10 [380/400V|2A

W9 1355817 0191 20 12/20



<= <=
B@ | @@ |

N N

40..400 Hz [VA(\VA()|  Up gG | | 40..400Hz VA(MDIVAM| U, 9G

LC1 F115/150 LC1 F185/225
LX9 FF024 24V [12A] | Lx9 FG024 24V [16A
LX9FF042 [690 | 66 [ 42v [10A| | LxoFGo42 |950 | 89 | 42v [16A
LX9 FF048 A A 48V | 8A LX9 FG048 | \ 48V |10A
LX9 FE110 110115V | 4 A LX9 FG110 1101115V | 6 A
LX9 FF127 1201127V | 4 A LX9 FG127 120127V | 6 A
LX9 FF132 132V | 4A LX9 FG132 132V | 4A
LX9 FF200 200/208 V | 2 A LX9 FG200 200/208 V | 4 A
LX9 FF220 220/230V | 2 A LX9 FG220 220/230V | 4 A
LX9 FF240 240V | 2A LX9 FG240 240V | 4A
LX9 FF265 265V | 2A LX9 FG265 265V | 4A
LX9 FF280 217v | 2A LX9 FG280 277V | 2A
LX9 FF380 380/400V [ 2A LX9 FG380 380/400V [ 2 A
LX9 FF415 415/440V [ 1A LX9 FG415 415/440V | 2 A
LX9 FF480 J v |460/480V | 1A LX9 FG480 | ! v [460/480V | 2 A
LX9 FF500 |[855 | 8,1 [ s00v [1A LX9 FG500 [1180| 10,9[ 500V [2A
LX9 FF575 575V | 1A LX9 FG575 575V | 1A
(1) 50/60 Hz, B = 20 °C
W9 1355817 0191 20 13/20



The following products meet the Energy Efficiency requirements.
The power consumption and the Energy Efficiency grades are:
PUN A5 77 A5 RRCEER, 7 il IR R Dy 3 AR 4 43 il F
Product Type LC1F115 LC1F185 LC1F225 LC1F265 LC1F300
e LC1F150 LC1F400 LC1F500 LC1F630 LC1F1250
Maximum power consumption lower than
EEINU/SE RIS IR 51.3 91.2
(VA)
Energy efficiency grade 2 2
AERLSF
Type J Fuse Ampacity
200V - 208V | 220V - 240V 460V - 480V | 575V - 600V | SCCR | Maximum
Contactor HP HP HP HP KA A
LC1F115 30 40 75 100 100 200
CR1F150/LC1F150 40 50 100 125 100 200
CR1F185/LC1F185 50 60 125 150 100 400
CR1F265/LC1F265 60 75 150 200 100 600
LC1F330 75 100 200 250 100 600
PR AT A OGN AR R
Contents of Toxic or Hazardous Substances or Elements
HEAHY ST R
Toxic or hazardous Substances and Elements
AR 4 ZS ] i LW | BU R
Part Name (Pb) (Hg) (Cd) (Cr6+) (PBB) (PBDE)
o B AL
SR X o o o ¢} o}
Metal Parts
O« FREATEAT I BAEAZIBI AT B SO R 15 25 SUT11363-2006 bk e 1 BRI EE R LAF .
Indicates that this toxic or hazardous substance contained in all of the homogeneous
materials for this part is below the limit requirement in SJ/T11363-2006.
X o FOREAEAEY DI RE B B R R ) SJ/T11363-2006 AR E Y B 25k .
Indicates that this toxic or hazardous substance contained in at least one of the
homogeneous materials used for this part is above the limit requirement in SJ/T11363-2006
RS HI T ah, AR R,
VTN 75 A A I ) P15 L T R X e e Y - AE BT P P T B S B T REAN S 5 T T A A
Note: The products on sale may or may not contain all the parts/components listed here.

W9 1355817 0191 20

14/20



A A

HAZARD OF ELECTRIC SHOCK, EXPLOSION,
OR ARC FLASH

Disconnect all power before servicing equipment.
Failure to follow these instructions will result in
death or serious injury.

DANGER/DANGER/GEFAHR/PERICOLO/
PELIGRO / PERIGO / ONACHOCTb / fg &

RISQUE D'ELECTROCUTION, D'EXPLOSION
OU D'ECLAIR D’ARC ELECTRIQUE

Coupez toutes les alimentations avant de travailler
sur cet appareil.

Si ces directives ne sont pas respectées, cela
entrainera la mort ou des blessures graves.

GEFAHR VON ELEKTRISCHEM SCHLAG,
EXPLOSION ODER LICHTBOGEN

Vor dem Arbeiten am Gerét alle
Spannungsversorgungen abschalten.

Die Nichtbeachtung dieser Anweisungen fiihrt zu
Tod oder schweren Verletzungen.

RISCHIO DI SCARICA ELETTRICA , ESPLOSIONE
O ARCO ELETTRICO

Scollegare 'apparecchio da tutti i circuiti di
alimentazione prima di qualsiasi intervento.

Il mancato rispetto di queste istruzioni provochera
morte o gravi infortuni.

PELIGRO DE DESCARGA ELECTRICA, EXPLOSION
O ARCO ELECTRICO

Desconecte todas las alimentaciénes antes

de manipular el producto.

El incumplimiento de estas instrucciones podra
causar la muerte o lesiones serias.

RISCO DE ELECTROCUSSAO, DE EXPLOSAO,

OU DE ARCO ELECTRICO

Desconecte todas as alimentagdes antes de manipular
o produto.

A nao observancia destas instrugdes resultara em
morte, ou ferimentos graves.

OnacHOCTb NOPAXEHUs INEKTPUHECKUM TOKOM,
ONacHOCTb B3pbIBa UMW BCMbILWKK AYTA.

Mepen o6ecnyxUBaHUEM UM PEMOHTOM
y6eanTech, YTO NUTaHUE OTKIYEHO.
HecoGntogeHne aTuX MHCTPYKUUIA NpuBeaeT

K CMepTV Unu cepbe3Hoii TpaBme.

B BERINAR R
FEULHL DB FHEAT AR, WS DT T R
TEELREARSHARGT.

W9 1355817 0191 20

15/20



m The blackening of the contacts

Contact wear indicator and the arc-boxes is a naturel
Contrdle d'usure des contacts consequence which occurs during
.\ normal operation,and does not

Prifung der Abnutzung der Kontakte effect the functionning of the

Controllo dello stato di usura dei contatti product.

Control del desgaste de los contactos m Le noircissement des contacts
et des boitiers d'arc est un

MHAMKaIOS EsHoca KOHTaKTa phénomeéne naturel qui n'altéere

ﬁﬂ )5%?1“\ EERN D pas le fonctionnement de I'appareil.

100% g pie Schwérzung an den Kontakten

und in der Lichtbogenkammer ist

ein normales Phanomen und hat

keine Auswirkungen auf die

Funktionsweise des Gerates.
100%

m L'annerimento dei contatti e delle
camere spegni-arco € un fenomeno
naturale che non altera il
funzionamento del I'apparecchio.

m El ennegrecimiento de los
contactos y de las camaras de
arco es un fenémeno natural que
no altera el funcionamiento

del aparato.

50%

0% m [TovepHEeHMe KOHTaKTOB U
KOpMyCOB Ayrv IBMsieTCs
€CTECTBEHHbIM MOCNEACTBUEM

HopMarbHoW paboThbl U He BANUSIET
¢ Ha (PYHKLMOHMPOBaHWE U3Lenus.
7 w fi SR P A

T T A
EHIS,

X fhiatT
TAET R

C (maxi / makc. / 5 K) = 10 N.m (88.5 Ib-in) for LC1F115...F225

W9 1355817 0191 20 16/20



LA5 F11550 (F115)
LA5 F15050 (F150)
LA5 F18550 (F185)
LA5 F22550 (F225)
LA5 F26550 (F265)

LA5 FF431 (F115/F150)
LA5 FG431 (F185/F225)
LA5 FH431 (F265)

LA5 F115450 (F1154)
LA5 F150450 (F1504)
LA5 F185450 (F1854)
LA5 F225450 (F2254)
LA5 F265450 (F2654)

LAS FF441 (F1154/F1504)
LA5 FG441 (F1854/F2254)
LAS FH441 (F2654)

LAS5 F400250 (F4002)

LA5 F500250 (F5002)
LA5 F400802 (F4002)

LA5 F500802 (F5002)

LA5 F33050 (F330)
LA5 F40050 (F400)
LAS5 F400803 (F330/F400) LA5 F50050 (F500)

LA5 F500803 (F500)

LA5 F330450 (F3304)
LA5 F400450 (F4004)

LA5 F400804 (F3304/F4004) LA5 F500450 (F5004)

LA5 F500804 (F5004)

LAS5 F630250 (F6302)
LA5 F630802 (F6302)

LA5 F63050 (F630)
LA5 F80050 (F800)
LAS5 F125050 (F1250)

LA5 F630803 (F630)
LA5 F800803 (F800)

LAS5 F630450 (F6304)
LAS5 F630804 (F6304)

W9 1355817 0191 20 17/20



The product's manufacture
date is coded PPYYWWD,
where:

e PP: plant code

e YY: year of manufacture
o WW: week of manufac-
ture

o (D: weekday of
manufacture (Monday = 1))

La date de fabrication du
produit est codée
PPYYWWD, avec:

o PP: code usine

e YY: année de fabrication
o WW: semaine de
fabrication

o (D: jour de fabrication
dans la semaine (lundi =

1))

Das Herstellungsdatum
des Produkts ist
folgendermalen codiert:
PPYYWWD. Wobei:

o PP: Werkscode

o YY: Herstellungsjahr

o WW: Herstellungswoche
o (D: Herstellungstag
(Montag = 1))

La data di fabbricazione del
prodotto & indicata con il
codice PPYYWWD, dove:
e PP: codice stabilimento

e YY: anno di fabbricazione
o WW: settimana di
fabbricazione

o (D: giorno della settimana
in cui il prodotto & stato
fabbricato (lunedi = 1))

La fecha de fabricacion del
producto esta codificada
PPYYWWD, donde:

e PP: cddigo de la planta
e YY: afio de fabricacion

o WW: semana de
fabricacion

o (D: dia de la semana de
fabricacion (lunes = 1))

A data de fabrico do
produto esta sob a forma
de codigo PPYYWWD,
onde:

e PP: codigo da fabrica

e YY: ano de fabrico

o WW: semana de fabrico
o (D: dia da semana de
fabrico (Segunda-feira = 1))

[ata npoussoacTea
npogykTa 3akoamMpoBaHa B
dopmate PPYYWWD, rge:
e PP: ko 3aBoga

e YY: rog npousBoacTea

o WW: Hepens
Npon3BOACTBA

o (D: geHb Hepenu, korga
6bIn NpousBeaeH NPOAYKT
(noHenenbHWK = 1))

T L R A
PPYYWWD, H:r:

e PP: T ftig

o YY: iy

o WW: 5L il

o (D: LMl (A
=1))

W9 1355817 0191 20

18/20



W9 1355817 0191 20 19/20



W913558170191

Schneider Electric Industries SAS
35, rue Joseph Monier

CS30323

F - 92500 Rueil-Malmaison
http://www.schneider-electric.com

W9 1355817 0191 20

YNonHOMO4YEeHHbIN NoCcTaBWUK B PD:

AO «lllHenpep neKTpuk»

Appec:

127018, r. Mocksa, yn. [iBuHues, A.12, kopn.1,
Ten. +7 (495)777 99 88,

hakc: +7 (495)777 99 94, 8-800-200-6446
www.schneider-electric.ru

il
G

20/20



